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e Javay 7' L v NI T _XTApplet &9 7 T A ZHkA L CIERET 5, Applet 7 7 AI2H 5
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(1)~(3) DT
(A) init (B)start (C)stop (D)paint (E)repaint (F)run
e JavaT "128" L\ ) UFHI A 128 £\ D BEIC AW BT, 4) Lo
Ay Rend, 2l CEiED atol PIRICHY 2,
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(A) String.toInteger (B) Integer.intValue
(C)String.intValue (D) Integer.parselnt
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CharPoint 7 7 A%, IRDPoint 7 7 A Z&fk& L.

class Point {

public int x, y;

public void print (O {
System.out.print("("+ x +", "+ y +")");

}

public Point(int x0, int y0) {
x=x0; y=y0;

}

}

2 5D L\ char 7 ¢ —/L RcharX, charY ##f->, print A YV v RIZFEEZIN VT,
Wit 95V iccharX Zx . charY #y i 1+ b0E45, (x,y BDEADEKDE
AlEE 22 TRY,) #HilziEx 282,y 78 4 TcharX 728%, charY 23+0D & & (FF+++4) L HT)
1%,
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class ’ (1) ‘ {
private ’ 2) ‘

public void print() {
System.out.print("(");

3>

System.out.print(")");
}

public CharPoint(int x0, int y0, char cl, char c2) {
super(x0, y0);
charX = cl1; charY = c2;

}

}

S HIZLLFOILED (4), (B) DZEMZ D 2 DITH - & biE )72 55 2 1% DB D 5%,
bLRODEORTATINHT w7 L0365 T 5L,

Point[] pts = new Point[2];

pts[0] = new Point(1l, 2);
pts[1] = new CharPoint(3, 4, ’!’, '?’);
int i;

for (i=0; i<pts.length; i++) {
pts[i].printQ);
}

“(1, Q)T i Ens, ZHUL, print AV v KA (4)  |SRTWAHEEHTH
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(4), (5) DIEIR K
(A) ABRiE  (B) #7k4b  (C) @SS (D) fHac

To7a 7 Z 2 (Type®) X, HOXH M hET 5,

import java.io.*; T
Th

public class Type® { The
String message® = The
"The quick brown fox jumps over the lazy dog."; The q
String message = " "+message®+" "; The qu
public static void main(String[] args) { The qui
int i; The quic
for(i=0; i<=message.length()-8; i++) { he quick
System.out.println(message.substring(i, i+8)); e quick
} quick b
} quick br

3 (LT )

DFE D, message &\ LTI D 8 LFOE LT & FeiAD HNEF IZHLY H L CHREAEH
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@ extends Applet

® g.drawString(message.substring(i, i+4), 10, 40);
® implements KeyListener

® repaint();

® i=0;

® i++;

@ else
addKeyListener(this);

©® if (k==message.charAt(i))
@ {

® 1

22l —ODEM —2>DT AT L LIFRET, HEOT AT L EWNTESLENRHD
Land b,



import java.awt.¥*;
import java.awt.event.*;
import java.applet.*;

public class Type (@) {
String message =
"THE QUICK BROWN FOX JUMPS OVER THE LAZY DOG. "
int i=0;

public void init(Q {

| 2 |
}

public void paint(Graphics g) {

| (3 |
}

public void keyPressed(KeyEvent e) {
int k=e.getKeyCode();

(4 |

if (k==".") i=0;
}
public void keyReleased(KeyEvent e) {}
public void keyTyped(KeyEvent e) {}
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import java.awt.¥;
import java.applet.*;
public class Hexagon extends Applet {
Color[] cs = {Color.red, Color.orange,
Color.green, Color.blue};
public void paint(Graphics g) {
int i, j, k=0;
for (i=0; i<6; i++) {
double theta_i = 2.0*Math.PI*i/6;
int x_i = (int)(120-Math.sin(theta_i)*100);
int y_i = (int) (120-Math.cos(theta_i)*100);
g.setColor(Color.black);
g.drawString(" "+i, x_i, y_i);
for (j=i+1; j<6; j++) {
double theta_j = 2.0*Math.PI*j/6;
int x_j = (int) (120-Math.sin(theta_j)*100);
int y_j = (int) (120-Math.cos(theta_j)*100);
g.setColor(cs[k%4]);
g.drawLine(x_i, y_i, x_j, y_j);
k++;
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VI. RODE SR ALy REHHALIE w77 558525,
public class ThreadTest implements Runnable {
int c=1;

public void run() {
while(c<100) {
synchronized(this) { c*=2; } // ©
synchronized(this) { System.out.print("A: "+c+", "); } // ©®
3
}

public void run2() {
while(c<100) {
synchronized(this) { c+=2; } /] @
synchronized(this) { System.out.print("B: "+c+", "); } /
}
}

public void test() {
Thread thread = new Thread(this);
thread.start();

run2();

}

static public void main(String[] args){
ThreadTest t = new ThreadTest();
t.test();

}

}

X, run Lrun2 X Y v REFIADA Ly RTIWITIZETTHIn 7L ThD,
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(2) &5 iZrun Erun2 A Y v ROEFK % synchronized D AN T H#ZEZ T, WO X HITEEH#H
25,
public void run() {
while(c<100) {
synchronized(this) {
c*=2;
System.out.print("A: "+c+", ");

}

}
}

public void run2() {
while(c<100) {
synchronized(this) {
c+=2;
System.out.print("B: "+c+", ");

ZOEDICESHRIIBOLI L LTHEYFREVDIIROEBRED 5 H Ehi, 1o,
(A). A:2,B:4,A:8,B:10,B: 12, A: 24,...
(B). A:2,B:4,A:8,B:10,A:20,B: 22, ...
(C). B:3,A:6,A:16,B:32,A:34,B: 36, ...
(D). B:3,A:6,B:8,A:16,B: 18, A: 36, ...
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